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@ 247
@Wﬁ @ 313
® 413
A oA BC o W& =40

de] & E =2kl oA
AE = 6xsin60° = 3V3, BE = 6xc0s60° =3, CE=8-3=5
(o)

It @ebA AAEC o meprsts FeE ;G_Q_E,].u:] AC —
(3\/§)2+52= V52 = 213 o]t}
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@® 4(V3-1)em @ 5(V3-1)cm ® 6(V3-1)cm
(@)7(@— 1)cm ® 8(V3-1)em

14
tan(90 °14 30°) 4 tan(90° — 45°)

@

~ tan60° + tandb°
Ii4 + tan

T VB+1
_14(V3-1)
3-1

(V3 -1)(cm)




@ (1)25, (2)6V3 @ (1)25, (2)7V3
@(1)27, (2)7V3  ® (1)28, (2)7V3

® (1)26, (2)6 V3

1
(1) §><9><12><sin30°
1 1
=-—X9x12x - =27
2 2

1
(2) 5 x14x2xsin(180°~120°)

— X 14 x 2 X sin 60 °

| —

V3

1
= —X14%x2x — =T7V3
2 2 V3




g 919 AAZY OABC & y
I3} Zo] BAH A 71 ¥ BC 919
AD s HIS o, H E 9 C
FELY (0,5) E
0| AT
(13.0)
12
@ (13,3) @ (13,3) ® (13,4)
13
1 . 1 s T
@ (13,5) (@)( 3 5)
HEE (13,a) 2t FH AE=DE =a, BE=5-a o|t}.
OA=0D=130°]120C =5°]22 CD = V132-52 = 12

o|tt.
utetd DB = 1 ©|22 ABDE of|A]
124+ (5-a)? = a® o|th.
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Oh& 23 Zo] o mA 2] 9] Zol7t 6em 1 A=A A 17}
CD o A52HY . A C ollA aBGI Ato] 2] A2l & F5tofet.
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BG = 6 V2(cm)

BI = GI = V62 + 22 = 2V10(cm)

AIBG °] H 194 BG ol e 449 & K 2t ot
K = /(2V10)2 - (3V2)2 = V22(cm)
AIBGQ‘QOI%ixG\/ﬁx V22 = 6 V11( cm?)

A C AHABGL o Wl 549 e Molet 5, A C oA
ABGI Ao €] 72l TM o]e.
ARA] C - IBG o] ¥1E ol g5t

1 — 1
§x6\/ﬁxCM:§x%x6x2x6

. CM = %(cm)
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> HE 6vV6+12v2cem

I} o] gt 5*13]4 7:_1017} 12em & d
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X
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=6V2(cm)

3
o
Il

= V144 + 72 = 6 V6(cm)
DG = 12V2(cm)
- DO + DG = 6 V6 + 12V2(cm)

VD +0H = /122 + (6v2)?




